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QUESTION 1

Which method can you use to change the object qualification of an object within Web Intelligence Rich
Client?

Please choose the correct answer.

Response:

A. In the Query panel, select the qualification.

B. In the Document Properties, select the qualification.

C. In Query View, right-click and select the qualification.

D. Select the object, right-click and select the qualification.

Correct Answer: A

QUESTION 2

Which three statements are true of contexts? There are 3 correct answers to this question. Response:
A. Contexts are defined in a report.

B. Contexts are defined in a universe.

C. You can combine objects in different contexts.

D. You can combine any objects within the same context to create a query.

Correct Answer: BCD

QUESTION 3

In which two situations should you use sub-queries? There are 2 correct answers to this question. Response:
A. When the query filter involves values that are known

B. When the query filter involves values that are not known

C. When the query filter for the report involves a value that will change over time

D. When the query filter for the report involves a value that will never change over time

Correct Answer: BC

QUESTION 4
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Which four authentication methods are available for Web intelligence Rich Client?
There are 4 correct answers to this question.

Response:

A. AD

B. NT

C. LDAP

D. Vintella

E. Kerberos

F. Enterprise

Correct Answer: ABCF

QUESTION 5

What all changes you can define and make with the LAYOUT option, to format a Table?
There are 2 correct answers to this question

Response:

A. To define relative pattern of the table on the page

B. To define horizontal and vertical start on new page

C. To define rows and columns and background image

D. Avoid page break and repeat on every page options

Correct Answer: BD
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